X 48 5 oR IR TE

= Bl [R I

ST IR

R4t

FIR R HRA 1
X1 : TRHAA




- @) #4#rir?
AGHITTIMEBRE—REEHHEEIATT  msnens

FREATII :
G($)=G1($) GolS) Gsls)---=q1Gy(s)
FHR RGOSR
joi()

G(jm)= HG,(J(O) —Hﬁ ()€




@ ziiners
RGBT

L(@)=20lg IA(0) =X20lgA() =XL (o)
FFEAR FHIRIEHHE: Jﬁ%f
P(®)= Zqgl(co)




Ll R

IAXS BN R EF I

@ ziiners
= B\l — B
gj% HI‘J ﬂﬂméﬁ*ﬁﬁﬁﬁ

1) RIS R B R B B AT Y3 FR

73 B X5 28R S5 A0 X 25 4H

2) H & HAIIRC
A 2%

3) WERMTRIXTEIRIN. HSNERZ A




 3) BRIRBH

A N b | N

G4(s)=10

(32(5):§1
Gg(S):O.].S"'l

Gu(s)=2871

ZAENN, BP9
REHI ISR

MR

40
20

-20

-90
-180

! L(w)/dB

{ngeC
_\<40dB/dec

ol

05 1

SN

10 W

-20dB/dec

—

W



SRR F DS R B9
1) BFMEIBERETNE ;

2) AR SZIATORIEITORR,;

3) Ho=1, L(o)=201gK X, {ERl
229-20 vdB/dec BN LE: ;

4) BRIE—ATRIEGITIRRG, RIEZIAT
APPSR — IR e HI R R,

5) BEIHXIEESS IR ZR.




{51

1»‘tlﬂlt




@) #47tirt
L& FE miRFE

515 |



